Honors Algebra 1

Chapter 3 Practice Test (2023)
Grading: ALL problems are 8 points

Name

KeY

Date

ID: 1

Period

Solve and Check! Show work clearly. Circle solution.
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5) Solve and Check! Show work clearly. Circle solution.

8~ 10(2 + 2x) = —4x -4(1 + 4x) - 8
¥ -0 -zox = -yy-4-lx-8
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Solve AND CHECK each proportion Circle solution.
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Word problem. Clearly show work -- define your variable, label your ratios/proportions, and

answer in a sentence.

8) Section 3.5 pg 166 WP#50

9) Section 3.5 pg 166 WP#51
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Solve the percent problem using either PROPORTION METHOD or EQUATION METHOD.

Clearly show work!!

10) 140% of 50 hours is what?
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Round to tenths (i.e. xx.x)

Circle answer and include units.

11) 6 grams is what percent of 119 grams?
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12) What is 80% of 65 inches?
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13) 100 hours is what percent of 144.9 hours?
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Solve each equation for the variable "y". \$° LnTE o
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BONUS: Solve the percent problem USING THE EQUATION METHOD
Clearly write your equation! —_—

(4 points each)

*** NO CREDIT USING THE PROPORTION METHOD but a good way to check :-) ***
16) 44 grams is 4% of what?

17) 104 minutes is what percent of 52 minutes?
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